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ENGLISH

I. Read the following sentences and answer the questions that follow. Choose the
right answer and mark it.

1. ‘He sald it expanded his lungs’. The antonym of ‘expand’ is
(1) Unfold (2) Contract (3) Spread (4) Loosen
o ' '\
2. ‘Did you get up-early this morning’ ? What part of speech is the word ‘early’ ?
(1) Adjective (2) Preposition (3) Adverb (4) Verb

3. ‘I kept them quiet for ten minutes’. The antonym of ‘quiet’ is
(1) Noisy (2) Calm (3) Complete (4) Cry

Il. Study the bar graph given below and answer the questions. Choose the right
answer and mark it.

RUNS SCORED BY DECCAN CHARGERS IN THE LAST OVER OF A T20 MATCH

6+ —
54
4 + T —
34
24
e
0 H ]
First Second Third Fourth Fifth Sixth
Ball Ball Ball Ball Ball Ball

4. Maximum runs were scored in the
(1) Second ball (2) First ball
(3) Sixth ball (4) Fourth ball
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5.

6.

How many runs were scored in the fifth ball ?

(1) 6 (2) 4 (3) 0 (4) 2
What are the two balls in which the batsmen scored the same runs ?
(1) Firstand Second balls (2) First and Sixth balls
(3) Third'and Fifthballs -, (4) Second and Third balls

lll. Identify the prbper order of the following sentences and mark them. (The first and
the last sentences are in the proper order.)

7.

Hi, Cherry, how are you ?
Well, | play a lot of sport.

| like shuttle badminton.

> 0N =~

Hi, Abdul. I'm fine. You look very fit and healthy. What do you do to keep
yourself like this ?

o

What sport do you like the best ?

6. Yesldo. Igo running in the morning at least five days a week. Are you interested
in sport too ?

7. Do you ever go running ?

8. Yes. | like swimming. | swim everyday without fail.
(1) 1,4,2,5,3,7,6,8 (2)1,3,4,6,2,5,7,8
(3) 1,4,5,3,7,2,6,8 (4)1,5,2,8,6,4,7,8

Who is the author of “Mother’s Day : One-Act play” ?

(1) W.R.Inge (2) J.B. Priestley

(3) ShivK. Kumar (4) Stephen Leacock
George Orwell's ‘Animal Farm’ is marked by a profound awareness of
(1) Equality (2) Liberty

(3) Social Injustice (4) Fraternity
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10.

11.
- (¥ Equipment. (2) The Giving Tree

12,

13.

14.

15.
16.
17.

18.

19.

20.

The novel ‘Animal Farm’ shows how power corrupts too.
(1) Men (2) Animals (3) Birds (4) Insects

“Then you can sail away be happy”. In which poem does this line appear ?

(3) Harvest Hymn (4) Bullin the City

Cf]pos.e the word that has the same meaning as the expression given below.
“ That which-can not be conquered”.

(1) Invisible (2) Infallible (3) Inevitable (4) Invincible

‘Lots of assembly-line jobs will Vanish”. The synonym of ‘Vanish’ is

(1) Disappear (2) Appear (3) Found (4) Seen

Identify the part of speech of the underlined word.

“The search became a mania with me” |
(1) Adjective (2) Noun (3) Verb (4) Conjunction

Identify the number of syllables in the word “around” (around)
(1) Mono (2) Di (3) Tri (4) Poly

Which letter is stressed in ‘Volunteer’ ?
(1 Vv (2) L (3) E 4 T

Identify the silent letter in ‘subtle’.
(1) s (2) b (3) t (4) |1

Find the word that is different from the other words in the group with regard to the
sound of the underlined letters.

(1) Change (2) Character (3) Cheap (4) Chance
Identify the right word for /KJut/
(1) Coat (2) Kute (3) Cute (4) Cote

Supply the missing letters to complete the spelling of the word “Anc _ _tral”.
(1) i, s (2) e, s (3) us (4) s,e
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IV. Fill in the blanks with suitable answer.

21. After working so hard he didn’t deserve to fail in the exam,

(1) doesn'the? (2) Didhe? (3) Don’the? (4) Ishe?
22. Yesterday atthistimeallofus __ (watch) the cricket match.
(1) watched (2) are watching (3) hadwatched (4) were watching
N .
23. Theobjectistopreventhim ___failing.
(1) for (2) from (3) in (4) at
24. The rose is prettier than flower.
(1) Noother (2) Any other (3) Moreother  (4) Mostother
25. You must cure me this horrible illness.
(1) of (2) at (3) in (4) for
26. Eachof the boys given a chocolate.
(1) wes (2) was (3) has (4) have
27. Therewasaman was very greedy.
(1) which (2) when (3) who (4) why
28. injured were immediately taken to the hospital.
(1) A (2) An (3) The (4) No article

29. Mark the part of the sentence that has an error.

Sunanda was wearing a pink pretty saree.
1 2 3 _
(1) 1 (2) 3 (3) Noerror (4) 2

30. The teacher will come when the bell
(1) Rings (2) Rang (3) Ring (4) Hadmung
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BOTANY

31. The Twin characteristics of growth in organisms

(1) 7Increase in size and number (2) Increase in mass and number
(3) Increase in volume and number (4) Increase in density and number
B30 DENOEOL &) wob oFETed

(1) Soaresarso00 soays 53 (2) (555078 3000 Sovgs® 5)3

(3) 0% BOHTETSL BB Howgd’ 2B (4) ogses $o80%0 dosd” 5B

32. The organisms present in the gut of ruminant animals such as cows and buffaloes
are responsible for the production of Methane (Bio gas) from the dung of these

animals
(1) Halophiles (2) Halophites
(3) Methanogens (4) Thermoacidophiles
esi3y00, e 7063 Er0udeS oo BrrEanos® 0 e g STge (265) Bood W8S
(20TgD) e Dok Epen.
(1) 564 (2) F6peh
(3) 2SBS0 (4) GTEEPG
33. The atmospheric nitrogen fixing specialised cells found in cyanobacteria
(1) Heterocysts (2) Akinetes (3) Hormogonia (4) Conidia
3005 er§tanSoes” TEmten 67 SEED T Ko EBERP SeTreo
(1) reS6een (2) eddeve (3) R (4) £ddarr
34. Bio-diesel producing petro-plants are
(1) Digitalis, Rawolfia (2) Jatropa, Pongamia
(3) Ocimum. Aloe (4) Neem, Datura
2 A2 e 3D v g e
(1) G2erdS, oot (2) =655, Fordar ¢
(3) estisoo, &6 (4) 35,5800
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35. The plant, which contain chlorophyll in their roots

(1) Taeniophyllum (2) Striga (3) Rafflesia (4) Cuscuta

SETOBB00%0 IS O &) oY,

(1) ardes () g (3) Showr (4) exim 2>
36. The Naked (Achlamydeous) flowers are found in |

(1) AnInflorescence _ (2) Verticellaster

(3) Hypanthodium ' - (4) Cyathium

B ity (OIS ) HAyeo &oera.

(1) % domgosw (2) Sgvergb

(3) yus&'dano (4) Sorrfovo

37. The placentation in Dianthus

(1) Free central placentation (2) Axial placentation
(3) Parietal placentation (4) Marginal placentation
S & socTyssn.
(1) S=3ococoyss (2) efaveosmygsn
@) sopcy=s (4) eos oty
38. The fnuit in grasses, such as Rice is
(1) Nt (2) Cypsela (3) Shizocarp  (4) Caryopsis
D ool i =reoos” Sosn
(1) Somodosn  (2) Mye (3) 255 (4) s Dessioo
39. The aquatic-weed plant responsible for terror of Bengal.
(1) Pistia (2) Nymphaea
(3) Water hyacinth (4) Nelumbium
Borrd DA G0y De3 Koy Do,
(1) o (2) doparr
(3) EHEE, /b ranied (4) deodavo
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40. The plant that came into India as a seed contaminant with imported wheat,
become ubiquitous in occurence and cause pollen allergy

(1) Michelia (2) Papaver (3) Annona (4) Parthenium

L EBH06"D8 DS Sodoorr, R AIHSS T $2) BEsooBer 00D HAG wed?) Seoll

(1) IOt (2) 556 (3) oS> (4) S§dowo
4'1'. Binomiaf npmeﬁclature for plants was strictly followed for the first time in

(1) Historia plantarum (2) Systema naturae

(3) Species plantarum (4) Genera plantarum

BI6° 3006326563, D00k, 0% BET0 TPREE ITRY PYBOTT® S0B0BESD

(1) POt Joerso (2) dgs>r>uso

(3) phSJoerso (4) 83 Joerto

42. The coconut water is

(1) Free nuclear endosperm (2) Cellularendosperm

(3) Endosperm (4) Perisperm

§e)0 D - 0D

(1) Aoy Soss ety (2) SeratoB eoHEEE

(3) eoHEgssD (4) sowEs®
43. Geocarpy presentin

(1) Soyabean (2) Butea (3) Arachis (4) Indigofera

B8’ grPossn &otso

(1) Fordmy  (2) argdat (3) ecdS (4) 30ai%0
44. The medicine sarsaparilla is obtained from.

(1) Seed of colchicum (2) Root of Smilax

(3) Leaves of Aloe (4) Bulb of Scilla

FEI0eR e8> TS0, B Mood ©Poisodd

(1) s°B)% o B0k (2) @ohHdomod

(3) o8 sgro S0l (4) er - o¥od0 5008
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45. The sub units of 80 S’ ribosomes are
80 S’ P& FS0E%) DETaRved
(1) 508,308 (2) 505,40 (3) 60S"40S” (4) 60S",308

46. Nucleoside consists of
(1) Nitrogen base only
(2) Pentose sugar+ Ni\tmgen base
(3) Pentose sugar +phosphate
(4) Nitrogen base + Pentose sugar + phosphate

By eod’ eocosd

(1) 5@ed $os0 SrEdd (2) 20e5%D 55,8 + SiEesd $e650

(3) 205N BHE + RS (4) Sgesd 650 + 00T 35,8 + FepeS
47. Albuminous cells are present in

(1) Phloem cells in Gymnosperms (2) Xylem cells in Gymnosperms

(3) Phloem cells in Angiosperms (4) Xylem cells in Angiosperms

©OYNRANB SeTe0 - e3E° &tk

(1) 255 Dero X8 Sereresnd® (2) 25y dero o8 Srveresns®

(3) es5y® Dero 25 Fererosand’ (4) ey Hero oo Severesnd®

48. The mostimportant pollinator for Agricultural purposes is

(1) Flies (2) Mosquitoes (3) Cockroches (4) Honeybees
SIS0 Sowos &B)Ees” BSOS B FVED SO oS, ST
(1) Beren (2) &soe (3) 2Eymes (4) Eedre
49. The purpose of introducing a carbon tax system in many countries is to

(1) Reduce green house gases (2) Cutdown CO, in atmosphere
(3) Cutdown CO in atmosphere (4) Allthe above
T BT S)S 5859 DY EDFEIS BSOS, Be B> S
(1) &S FR TPt Bhosoe (2) CO,% >orsseos’ shote
(3) COTEs6e08" B0 (4) 23
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50.

51.

52.

The lungs of the world are

(1) Plants (2) Planktons (3) Human beings (4) 1and2
SSoio Aoy), &e0Ee & 28 S8
(1) g e (2) Syssssen (3) srspHe (4) 150802
Fora solution at a atmospheric pressure water potential is to
potential._
(1) more ' .(2) equal (3) lesser (4) zero
BT S50 B 0.8 (50087 edsto, S #5708
(1) edss0 (2) srss (3) s (4) oo
The movement of substances in the phloem
(1) bi-directional (2) uni-directional
(3) upward direction (4) downward direction
PS8 Soerosnd Soge ST

(1) &samrmsoso (2) Sxomrmsose (3) agsomimose (4) of awrsoso

An essential element needed for pollen germination.

(1) Boron (2) Calcium (3) Magnesium  (4) Copper
SO BEPen DB eHocly @S¥E Suressn

(1) &S (2) s°®avo (3) ohyweno (4) =6
The movement of ions is called

(1) flux (2) influx (3) efflux (4) diffusion
Q00 BOTY QIORTD

(1) edoso (2) eosodaso (3) o (4) 5060

Substrate concentration required to cause half the maximal reaction rate of
enzyme.

(1) Substrate Constant (2) Menten Constant

(3) Michaelis Constant (4) Michaelis-Menten Constant
DB NOR 0T D S0 NEES SSORRS ey ST mess

(1) osgSovgHorossn (2) 20063S Jorossw

(3) 305 Yorossw (4) 20POS - 300635 Horossw
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56.

57.

59.

The products of light reaction.

(1) Starch (2) ATP,NADPH (3) Glucose (4) ATP,FADH,
SPod BG5 QoS &0
(1) 2odsogs»  (2) ATP,NADPH (3) nrs% (4) ATP,FADH,

For tﬁe complete oxidation of glucose to CO, and H,O, organisms adopt the cycle.
(1) Krebscycle (2) Glycolysis (3) Calvincycle (4) CAM
qis‘.'om ::o;’;yg esd ¥55 Dod CO,, H,0 56 Do6mmd8 doo 295300 Seakse

(1) fHseawso  (2) pBAS (3) =&Sseatsn (4) CAM
The increased growth per unit time is termed

(1) Growthtime (2) Common growth

(3) Abnormal growth (4) Growth rate

2.8 (35778 5008° &8ROSR 208D

(1) s sPeo (2) Jgrses G

(3) edoroe VNG (4) Ko Ben

The enhancement of respiration rate during ripening of fruits is respiratory climactic
itis promoted by

(1) Ethylene (2) Gibberellins (3) Auxins (4) Cytokinins
PR 50 DODEIYHED T Ba Do VNG ‘T @oﬁgmw@ @0eT. B (BB
(1) 2805 (2) 2eppdSes (3) esdyooes (4) P35

The agents, these are used as vectors in modern genetic engineering technique.

(1) Mesosomes (2) Genophores (3) Plasmids (4) Markers
505 E3¢38 302080 IS’ TSI SRS

(1) FFs0en (2) 200 (3) rnben (4) 59,Be0

61. The phages, that anackE.Q_Qu bacterium cause lysis
(1) Virulent phages (2) Temperate phages
(3) Cyanophages (4) Prophages
84. 5°9 ergloaon p ord B Seroiso D0 B Sefeo
(1) S0e5 Hefen (2) Qosded pefen
(3) HonSHelen (4) &pefen
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62. The genes which code for a pair of contrasting traits.
(1) Factors (2) Dominant factors

(3) Recessive factors (4) Alleles
- 28 80 DG4 0FFTed SoSTrean SIDD eRogHed

(1) s (2) e soTen
(3) wosgositives N, (4) oxory DS
63. The mutatidns, that arise due to change in a single base pair of DNA.
(1) Point mutations (2) Natural mutations
(3) Artificial mutations (4) Deletion mutations

DNA 6% 2.5 238 Srore 55762 0% 5080 &edstses
(1) oo aosgse (2) Spe es0SESed

(3) 5O asdsESen (4) 50506 éshDSGSe

64. The negatively charged DNA is wrapped around the positively charged histo

octomer to form.

(1) Chromatin (2) Euchromatin

(3) Hetero chromatin (4) Nucleosome

20ET0 %) DNA Go7aisns 6y 2rRps esgisnd ot 506087, 63208013058
(1) Earas (2) cxvofsredS

(3) irest’ E%5me3S (4) srdardesw

65. Lac operon model proposed by

(1) Jacob and Monad (2) Har Gobind Khorana
(3) Watson and Crick (4) Hershey and Chase
8 £ 00°S S5 (TS

(1) er%efS0B0x0 vl (2) 6R%0s o

(3) Texs Sodoxw &€ (4) 3§ Sovaxo e
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66.

67.

A fragment of single stranded DNA/RNA, which is tagged with a radio-active
molecule is

(1) Marker (2) Probe (3) Clone (4) Plasmid
MWmoé‘é&@oﬁS.o:s 25 F5 DNA/RNA 0d655

(1) srgf - - (2) &5 (3) &5 (4) InE
The dynamrc Increase in agncultural production

(1) Foodprocbcbm ‘ (2) Gene revolution

(3) Cmpmmmemem (4) Green revolution
SFEAreEoe e MedobunT X0

(1) =Tos (2) e053550 (3) =958 (4) o8 350

It is successfully helps in forensic science in the search of criminals and also
solving parentage disputes.

(1) r-DNA-technology (2) DNA finger printing

(3) ELISA-test (4) Gene-therapy

Do DERETD 6 30525 JgrNod®iss, I, N6 BYL0EDOR> J0:,B0i568° DevasSoBSan
LSS,

(1) r-DNA- >cias domssms (2) DNA %016 @oe3oh
(3) ELISA -6 (4) exog0ds,
69. The bacteria, that grow in milk and convert it to curd.
(1) Lactobacillus (2) Bacillus (3) Cocci (4) Acetobacter
To6" 20N, T EAT Sty ém
(1) of@es (2) anes (3) s% (4) eSerst
70. B-carotene-containing rice variety
(1) Goldenrice (2) IR-8
(3) Taichung native -1 (4) Jaya variety
B - 58%385 DA 56 8500
(1) womes6 (2) IR-8
(3) ToHisohBe35-1 (4) e - 5%
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ZOOLOGY
71. Corvus splendens insolens confined to
(1) India (2) Pakistan (3) Myanmar (4) Srilanka
- S0 23048 35BS, 5+ BT 502850
(1) eroudeo (2) %S (3) b (4) Boos
72 'Mé_jch the -fo!lowir\b ’
Listl | List I
i) Seafan A) Aplysia
ii) Seapen B) Gorgonia
iii) Seamouse C) Doris
iv) Seahare D) Pennatula
v) Sealemon E) Aphrodite
LY g
i) S8 A) SR
i) Hns B) AGR%ore
i) Hs3% C) &8%
iv) %6 D) wonewer
V) Hass S

(1) i-B,ii-D,iii—E,iv—A v-C
(2) i-D,ii-B,ili-A iv-C,v-E
3) i-B,ii-E,iii—A iv-C,v-D
(4) i-E,ii-D,ii—A iv-B,v-C

73. Wall of the Bowman'’s capsule is an example for

(1) Simple cuboidal epithelium (2) Stratified columnar epithelium
(3) Simple squamous epithelium (4) Transitional epithelium

280y 0P8 $¢550 $od T3 BIS orirtes ?

(1) S6¥ooss a8 (2) %08 Joerss 58w

(3) sowion e s (4) Soereons esse
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74. Renal portal system is absent in
(1) Mammals and cyclostomes (2) Aves and cyclostomes
(38) Aves and mammals (4) Amphibians and aves
D VoG 3553 B2 eipod® dotichH
(1) Ssoeo So8ox PP Jsen (2) S%eo obats PEFS> Sveo
(3) SPes S08aw fsoen (4) a0 Sores $oBaLB e

1 X,
75. Match the following _
List| List Il

i) Gastrin a) Inhibits gastric secretion

if) Enterogastrin b) Secretion of water and bicarbonates
iif) Cholecystokinin ¢) HCland pepsinogen
iv) Secretin d) Release of bile juice

E08 T3 esBeHSOS.

& | g |

i) mwes a) 285 &Y, ($Doidcso A&'Pe8

ii) JoeB&‘m&LoS b) % So8axn B5E)08) P50
iii) SO POS C) TEEE ex00 3080 TS
iV) 238e3S d) Dgso Hse

(1) i-a,ii—=b,iii-c,iv-d
(2) i-c,ii—a,iii—d,iv-b
(3) i—c,ii—d,ii—a,iv-b
(4) i—=d,ii—c,iii—b,iv-a

76. The period of origin of amphibians is

(1) Jurassic period (2) Devonian period
(3) Cretaceous period (4) Tertiary period
20001 2900 &0 Swo
(1) eobEdoand (2) A0S Hoans
(3) @epws2 (4) 986 boanE
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77.

78.

Homologous organs are

(1) Flippers of whale, wings of bat and forelimbs of horse
(2) Wings of butterfly, bird and bat

(3) Wings of flightless birds, vermiform appendix

(4) ane of the abbve

(1) SooKeo B, KB B),00 080K KE0 YoorTes

(2) Sers’sDeox By e, 9 S08aks Mo B,

(3) 5B 5o B, 00 50010 STBHAES” ENETD Hoto

(4) B35

If mother is ‘AB’ and father is ‘O’ group, the probability of their children.

(1) Only ‘O’ (2) Only ‘B’ (3) Only ‘A’ (4) Both'A’and ‘B’
2.8V 89 65§ S50 ‘AB’ 5080 Boid 8§ S5ariro ‘O’ eoniseand, 03 S8R oo

(1) Ese0‘O’ (2) 500 ‘B’

(3) S0 ‘A’ (4) ‘A’ 508ax ‘B’ 3ot dsre SSarSien

The sequence of conduct of heart beat in a specialized cardiac musculature.
(1) AV node — SA node — Bundle of His — Purkinje fibers
(2) Bundle of His — SA node — AV node — Purkinje fibers
(3) SA node — Bundle of His — AV node — Purkinje fibers

(4) SAnode — AV node — Bundle of His — Purkinje fibers
S)50K08” S8 Seaero 8 SokTre Eairded THRE BB E80

(1) 05 2805° Se0) — VO 8B5° ey — wodS ed TD — P08 Tped
(2) 20ddesdrd —» O P SewY — KPS 0T WY — Y02 THW

(3) o B srwY — wodd eH TR — P B0 WY — YOoL TP

(4) o Qs se0y — PS5 eB0E SrwY — wodd 6P TH — POY0L T
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80. Which of the following statement is not correct :

(1) Hypertension leads to heart disease and effects vital organs such as brain and
kidney

(2) CAD is a result of accumulation of calcium, fat, cholesterol and fibrous tissue
inside the coronary arteries and makes it's lumen narrow

(3) Smoking, diabetes and hypertension are not the risk factors for Angina and
Coronary Artery Disease (CAD)

(4) Angina pectoris is waiming signal of deprivation of blood supply to the heart
muscles .

52 808 76" D8 S0 BeSioS e 2

(1) aasdgmnmwsuﬁa;mmmbocmmwwﬁ@oa

(2) 5550558 sHavo, Sges, SBLS 5000k Hoto Sex00 XHED) K50 FEOHT SIE0Se
SE'0 G53500 TH 52908

(3) S sroxio, 19,0 Moot SRS XS0 erises sots 2505 - R0 SLd Tyes
BerBo DD LoTe0 )

(4) o LEDS 0B Sotcro S50 SN0 BROED BOALDD ST SDE

81. Middle ear ossicles in mammals are
(1) Sphenoid, ethmoid and incus (2) Palatine, sphenoid and malleus
(3) Malleus, Incus and stapes (4) Malleus, Incus and sphenoid
008" 5005 2 essen
(1) o€, 2557008 $508ax0 3080 (2) S08S, Yo 5000k POALS
(3) 37BawR, 3055 Sodakn HWO (4) SDand, 3080 Bobokw RyTrons
82. Which of the following statement is true explanation of Diabetes insipidus.
(1) Inability to secrete ADH leads to Diabetes Insipidus
(2) Characterized by excessive thirst
(3) Results in dehydration and fall in Blood pressure
(4) All of the above
52 800 T3S cSoXrDe3R FSRDEDLH PO S6E
(1) ADH @2 &S00 toire3d 3502¢0 55508
(2) oozl &R HEA
(3) Brob® VeI et BT, B eSS0 Kres BB
(4) 235 As6EIe0 SGI00
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83.

87.

The following drug interferes with the transport of neurotransmitter Dopamine.

(1) Cocaine (2) Heroin (3) Morphine (4) Cannabinoids
B2 800 TIE" D BN TS0, ETAS @950 KT EPGyIed ETeetd oBtrolo oo Biyed
(1) &85 (2) EroronS (3) w8 (4) soppront
Prolonged Q-T intérval indicates the following in ECG

(1) Bradycardia (2) Tachycardia
- (3) I-':!ypercaldemia N (4) Myocardial infarction

Es505Q-T o0 ECG 6 890 5rdisg08 2

(1) erdsporr (2) erfsporr

(3) ysbs@mar (4) e eandaSyEes

Blue revolution refers to

(1) Dairy industry (2) Poultry industry

(8) Fisheries (4) Agriculture

N 350 IS Sowofosd

(1) & S0 (2) &' sowso (3) Do soEs (4) oo

DNA finger printing technology is useful in

(1) Conservation of wild life (2) Pedigree analysis
(3) To establish medico-legal cases (4) Allthe above
DNA finger printing technology, 2¢38 ésaommscionss

(1) 585 @re00 Dot

(2) 0% Jroondy e 2080

(3) D55 D008 THEOHICIN 30950 HOJY, B0

(4) 500

The following is true about gene P53

(1) Produces P53 protein

(2) Itis responsible to check G, check point

(3) Tumor supressor in action

(4) Allthe above

&2 $08 Te3E° P53 esogd) K778 90 Desdoid :38e3 ?

(1) P53 @3S0 estnyd 900 (2) G, 539 HotsoD
(3) 5838 el D0 exdogd) (4) PBYH
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88. Ureotelic animals are

(1) Fishes and Amphibians (2) Amphibians and mammals
(3) Reptiles and birds (4) Mammals and reptiles

(1) 30 308010 égiows iSorgen (2) eavan Sores Soax §oTren
(3) mpvw a)@o;af_ 5.3530:)\ : (4) Sooren S080%0 2Oy

89. Following is not related to Darwinism

(1) Struggle for existence (2) Use and disuse theory

(3) Natural selection (4) Prodigality of production

30 &5 (BSOJ¢SSE” Beso

(1) so%0mes §%50 Foreso (2) &SarK St DDA egoo
(3) ©gosse0 (4) =685

90. As per Hardyweingberg principle the allelic frequencies in a population will remain
constant from generation to generation under the following conditions

(1) Size of the population is large

(2) Mating should not be random

(3) There should be evolutionary forces like natural selection

(4) Allthe members of the population should be heterogenous in age

FERonSef o (5760 emren 6 atry Moo TRYR0 1.85680 K004 308° IS Hore
GOLiTS 5280
(1) erver 565760 YO dodseso
(2) amrer® dipen By SorooBErEd:
(3) ©5)3 5680 diomd
(4) emer oo 50558 DI SO domd
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91. Poultry disease Gumbaro caused due to

(1) Bacterial infection ~ (2) Viralinfection
(38) Fungalinfection (4) Parasitic infection
§'%8" Kof’D TR STEEWH0
(1) erdoat sogse (2) 2650 soe
(3), JorbRoEe (4) o7 o Do
92. The term ‘Vacgcine’ coined by
(1) Louis Pasteur (2) Von Richert
(3) Edward Jenner (4) Luc-Montgainer
TS SRy TS0 DK TR
(1) oroxdIHd  (2) =S85 (3) b and (4) o - 57050

93. Genetic drift is

(1) The change in the frequency of gene that occurs mere by choice
(2) The existence of deleterious gene within population

(3) The movement of alleles from one population to another population
(4) None of the above

e3Sog B ST

(1) otresyson exsog Fsudisgs” R Sty
(2) esmrars® SR eogHeotiero
(3) o8 emrer oo 2B errd Aol Ao Soso

(4) PNr Y

94. Kline felter's syndrome is caused due to
(1) Monosomy of 23 pair of chromosome
(2) Trisomy of 21% pair of chromosome
(3) Trisomy of 23" pair of chromosome
(4) None of the above
54576890 3 35 g6 DoE'S> HogRiged
(1) 235 ErFSHrTIF 59 (2) 215 ErPS @FWSY
(3) 233 a0 EFWSY (4) PIALT D
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95. The regional specialization of the gut, such as development of Gizzard and stomach

is known as
(1) Primary induction (2) Gastrulation
(3) Organogenesis | (4) Morulation

mﬁmm&émmmmmé@mmm@
(1) Qﬁaas'aodgs (2) TR (3) erSanns (4) seo@sS

96. Cockroach mouth parts are

(1) Siphoning (2) Sponging and sucking
(3) Piercing and sucking (4) Bitingand chewing
85“905 ® e3 grrren

(1) srsgoso (2) nyorofi 5080 beyso o
(3) 200 5 %0 (4) Sostzo 800 S50t st

97. Ammonia is first oxidized to nitrite by

(1) Nitrobacter (2) Pseudomonas (3) Nitrosomanas (4) Thiobacillus
IO DT 508 essseBod erfoatr

(1) 5@5‘23"5§5 (2) s (3) DeSEsrms (4) saranes

98. Green house gases are

(1) Co, (2) co (3) CH,(Methane) (4) 1and3
BS 575 Totomes
(1) Co, (2) CO (3) CH, (235  (4) 136003

99. The increase of every 10°C of 'temperature, the metabolic rate also increases
exponentially is

(1) Bergmann’s rule (2) Vant Hoff's rule

(3) Allen’s rule (4) Gloger's rule

83 10°C &35 poyse Zpod’ el s €0 BeJosp Bdoww. 5+ @,

(1) 2828 ars (2) ToeSG, s () ed§ers (4) mbyoré
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100. Match the following :

List 1 List Il
i) Photokinesis a) Euglena
ii) Phototaxis b) Pinnotheres macculatus larva
i) - Diurnal c) Homosapiens

iv) Nocturnal =~ - d) Earthworm
B+ (300 TID eBHEOWOB0

<1 o3l

) FTTS a) anrfer

i) FS'erg® b) 25,505 sreded ooy
iii) povsd C) FRAFRBADS,
iv) =50 d) oo
(1) i—a,ii=Db,ii-c,iv-d (2) i-b,ii—a,ii-c,iv-d
(3) i—d,ii—c,ii—b,iv-a (4) i-a,ii-c,ii-b,iv-d

101. The rhabiditiform larva of Ascaris lumbricoidis is infective stage to man is

(1) 1# stage rhabiditiform larva (2) 2 stage rhabiditiform larva
(3) 34 stage rhabiditiform larva (4) 4™ stage rhabiditiform larva
537,00 000 @5"0dRE" Gogk (5§ SrsHAS FoEE ¥
(1) oocsed e5¥ oofed Goaso (2) Boess es¥Tfed dogo
(3) sooress es¥ oofed Soeto (4) oot 5% o°fed Sogso

. Edaphic factors of environment is related to
(1) Temperature (2) Humidity (3) Altitude (4) Soil
Sog306208° HHE SIS HowoRoDI

(1) e (2) &%
(3) mooiEssogy Mool 8y (4) Jo 8%

. The following is not true about flagella
(1) Long, whip like (2) Originate at anterior end normally

(3) Perform undulatory movement (4) Perform pendular movement
£F850 K0 30 Desid J9Tes S

(1) comes, o503 Jomeo (2) Fgroeom 366 Jrooses’ e
(3) BoK BoTR) BIHT oW (4) So¥seoTdy BrHEran

Course Code-5




104.

105.

106.

Criss-cross pattern of inheritance in sex-linked inheritance

(1) Father — Daughter — Grand son (2) Mother — Son — Grand daughter
(3) Mother — Son — Grand son (4) Father — Son — Grand daughter
Dol Sroify ©X0508568" $5- 55 (00¢) e508ss 51 SO0 dotnod

(1) Bod —ErB — S8 (2) 8 — S5t — Sososcres

(3) 80 —»osrtoe - pRE (4) Bod — LD — Sososcred

Assertion : Leutim‘}zing Harmone (LH) acts on leydig cells and stimulates the
secretion of androgens.

Reason : The androgens such as testosterone inturn helps in spermatogenesis
(1) (A) and (R) are true, (R) is explained by (A)

(2) (A)and (R) are true, (R) does not explain (A)

(3) (A)is not true and (R) is true

(4) (R)is not true and (A) is true

Assertion: ore33e0f TS DGR Leroisd (HerI80 BY, e E'RS 60080 $D0SED
SN0

Reason : eofiess sonogods SRS HIE SeFonysss’ SfabsBiod

(1) (A) 08ax (R) 222059, (R) 36 (A) © SO JSGER

(2) (A) s08cx (R) 2D, 50 (R) 36 (A) © S8 25058 76

(3) (A) 05058 Jes2oi5 DS6es S5 S8 (R) D208 d56es

(4) (R) 95058 Jesois 566 S S8k (A) &30 esdo® 36

The sequence of ventricles and their connections in the brain

(1) Diacoel — Paracoel — Foramen of manro — optocoel — metacoel
(2) Paracoel — Foramen of manro —s diacoel — lter - metacoel

(3) Diacoel — Optocoel — Iter — metacoel

(4) None of the above

RIS 06560 E e e Sogsg Soeogre

(1) carbd — J) 5 e — SoFsogo — %o — Tgs Sk

(2) 55835 » oo — GarhS — b — T s

(3) Gatrdd — RShEsn — 006 - T S

(4) EBacwr s
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107. Anisotropic band in striated muscle fiber contains

(1) Actin (2) Myosin (3) Tropomyosin (4) Troponin
BB ¥otst50E"D BB 5636 Fe3ko
(1) &85 (2) SodrdsS (3) FparhS  (4) IS
108. Match the following: -
List1 Listll
i) Colostrum a) Part of antibody that recognise antigen
ii) Paratope b) Artificially acquired active immunity
iii)y Vaccination . €) The antigenic site that binds to antibody
iv) Epitope d) 1% instance of mother's breast milk
23HCOWOR[
o3 | |
i) SRS (Soghdre) a) B HBoD B B T
i) JoesS b) £@so0r 58008 HEArES eboFTHogt
i) Tgeas C) $3DT0d’ woodets PAwSE g

V) @3 os0

d) ©65503 §o50 T30 S Jrew

(1) i=d,ii—=c,iii=b,iv-a (2) i=b,ii—c,iii—d,iv—a
(3) i—=d,ii—a,iii—=b,iv—=c (4) i—d,ii—c,iii—a,iv=-b

109. Somatostatinis
(1) Itis produced by hypothalamus
(2) Itinhibits the release of growth harmone from pitutary
(3) It reaches anterior pitutary through a hypophyseal portal system
(4) All of the above :
LITESYeIS TR0 KPOyS DSed
(1) XSl S0od &8 ysnRoyBiood
(2) 20520 (0B K00k e T ok EoBE Y AP0
(3) 3 IPFPRANS VTETE 0 T FEFY) 250 (0P D00
(4) psQoHr ,

110. Which is the terminal stage in respect of pathogenicity of Wuchararia bancrofti to
human being

(1) Lymphangitis (2) Lymphadenitis
&§30ar eroEps’ ©oBronS” BA O
(1) dopS@edd (2) oPrcedd

(3) Lymphedema (4) Elephantiasis

(3) dcFedsr (4) IDPoerarHD
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111.

112,

113.

114,

115.

116.

117.

CHEMISTRY

The total number of orbitals associated with the principal quantum numbern=4is
BT 575000 Sopg N = 4 & &) Do esderde oy
(1 9 o ()l (3) 16 (4) 8

The correct order of electronegatlwty of O, Sand Clis
0, S 508a% Cle dmé’)c‘.‘»&wa&sm ;aadb S50

(1) O<S<CCl (2 Cl<S<O
(3) S<O0<ClI (4) S<CI<O

Which is the weakest base ?
300 Te36° 2ol risaos 50 D8 9
(1) Ce(OH), (2) Pr(OH)a (3) Sm(OH)3 (4) Lu(OH),

Which of the following molecules has T-Shape ?
08 T3’ D e T-es8)d Socss 2

(1) XeO, (2) CIF, (3) PF, (4) NF,

Among B,, C,, N, and O, molecules, which are paramagnetic ?
B, Gy N, 30800 O, orn08® Sorecsds on &80 SDA A 2
(1) C,, 0, (2) B, N, (3) N,, O, (4) B, O

Kinetic energy of 5 moles of nitrogen at 27°C is
27°C 3¢5 2o pes'eS ot Nde: ¥
(1) 18.71kJ (2) 9.35kJ (3) 37.42kJ (4) 4.67kJ

Which of the following species do not undergo disproportionation reaction ?
808 735" DB SHBoI 155 x5 2

(1) CIO (2) ClO, (3) ClO, (4) CIO,”
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118.

119.

120.

The number of hydroxyl ions (OH) in the balanced equation of

M, 0z (aq) +17(aq) = M,0,(s) +1,(s) is

(1) 4, right 2) 4, left (3) 8, right (4) 8, left

MyO7 (20) 4 I~ (220) = MO (50) + I (8) (5) 53 520857 Boogo BRHED, Sooy Sbssens’
0203 P4 @oxrS (OH) o Sos

(1) 4,988 7 (2)\4, 06500 (3) 8,88 (4) 8, 5o

Which of the fol'lc;wing processes is associated with increase in entropy ?
A) Melting of ice

B) Freezing of water

C) CaCOg4(s) — CaO(s)+CO,(q)

D) Haz(g) - 2H(g)
208 &S’ BB Joes™D KBS ?

A) Sooio &

B) % 500e00%¢0

C) CaCOjz() — CaO()+CO,(7)

D) Ha (=) - 2H(=)

(1) AC (2 B,C,D (3) A BD (4 AC,D

Equilibrium constant for the reaction

N,(g) + O,(g) == 2 NO (g) at 800 Kis 0.25. What is the equilibrium constant for the

reaction ?

NO(g) == -;—Nz(g) +%02(9§ at the same temperature

Ny (=) + 05 () “»2NO () & 5655 800 K 5¢5 550878 307080 0.25. & esdfiies 5¢

1 1
NO (&)= ENz (=)+ 502 () & 1565 S50Bd HT70%o Jos ?

(1) 4 (2 2 (3) 05 (4) 0.125
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121. Which of the following has highest Ka value ?
(1) Formicacid (2) Acetic acid (3) Benzoicacid (4) Phenol

800 Te3&° BS Ka deois /oo 2

(1) oF0 (2 Medeiso (3) Soffawsso  (4) pos
122. Permaneht hardn-éss'of water is due to the presence of salt.

38 T STOT St o5es0

" ” "\ )

(1) Mg(HCO,), (2 MgSO, . (3) Ca(HCO,), (4) Na,CO,
123. Weight of 5 carat diamond is

5 se8ee Sigso 280y

(1) 50kg (2) 100mg (3) 1000mg (4) 500mg

124. The decreasing order of hydration enthalpies of alkaline earth metal ions is
6 388 6’5 waxrSe 7@ Jomden 81 o0
(1) Be* > Mg* > Ca?* > Sr+2 (2) Be*> Ca?* > Mg?* > Sr2*
(8) Sr**> Ca? > Mg > Be* (4) Sr** > Be* > Mg? > Ca?

125. BOD values of four water samples are given. Which is highly polluted ?
TR e S350 BOD denisen 35edisd. 96 260 5m Sestesaosd 2
(1) 100 ppm (2) 75ppm (3) 50ppm (4) 5ppm
126. In which of the following compounds sp hybridised carbon is not present ?
800 FHGED O SA0R08° S P So8EEE0 D S°6S 8o 2
(1) H,C=C=CH, (2) HC=N
(3) HC=CH (4) HC=0

127. Which of the following compound is not aromatic ?
$08 736" D6 5eI8 Soiso =08 98 9

o L) @ |
0 ) 0
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"(2) CH,COOH, CH,COOCH,
(3) H,ECH,NHCH,CH,, H,CNH CH, CH, CH
(4) CH,CH,NH,, CH,NH CH,

129.

130.

131.

132.

133.

3

Which of the following i§ more stable carbocation ?

200 336" essob HEAS 6 RS D8 2

(1) CCH), () HCCH)),  (3) HCeH,  (4) Cny
Which of the following is an example of electrophilic addition reaction ?
800 736" Jo§ B8 Sosors 1565 GTrsE D8 9

(1) CgH, + CH,CVAICI, —» CH,CH, + HCI + AICI,

(2) H,C=CH, +Br, » CH,BrCH,Br

(3) H,CCH,Br + KOH(alc) - H,C = CH, + KBr + H,0

(4) H,CCH,Br+ KOH (aq) —» H,CCH,OH + KBr

Carbon and hydrogen in an organic compound are detected as

&8 55 S08) 575 o8 ETesSedd v OB,
(1) CaCO,, CusSO,.5H,0 (2) Ca(HCO,),, CuSO,.5H,0
(3) CaCO,, Cu(OH), (4) Ca(HCO,),, Ca(OH),

Which of the following is a Bragg equation ?
200 738" R 52050 DB 9

(1) d=nA/2sin® (2) nx=dsin® (3) d=A/nsin® (4) d=2)/sine

Aqueous solutions of which one of the following has highest boiling point ?

(1) 0.1Mglucose (2) 0.1 M sucrose (3) 0.1MNaCl (4) 0.1 M Al,(SO,),
$005 3 2 S0 BOESETIS NOPEriyesss o dotod ?

(1) 0AMASEE  (2) 0.1 M:ESs (3) 0.1MNaCl (4) 0.1 M Al,(SO,),
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134.

135.

136.

137.

138.

139.

A solution of CuSO, is electrolysed for 965 seconds with a current of 1 amperes.
What is the mass of copper deposited at the cathode ?

CuSO, orzeriy 1 sobobb 5806896550 e deodse 5% 6 54 D&5ocly 5756
STER0H 2

(1) 3.15g < - (2) 0.315¢g (3) 6.30g (4) 0.63g
Rate constant of a reaction is 2.3 x10-° L mol-'s-'. What is its order ?
z.s:qamgpogo 2.3x10° 9356 2" esows e $O°5 (577050 Jot ?

(Mo (2) 1 | (3) 2 (4) 3
Which is an emulsion ?

(1) Froth (2) Smoke (3) Cheese (4) Milk
308 Te38° 25005 08 2

(1) oux (2) x (3) 3% (4) >eo

Which of the following is an example of roasting ?
308 T¢38° 2B g0 & PEOHH &TTEE ?

(1) ZnCOz — ZnO +CO,

(2) FeO+SiO, — FeSiO,

(3) 2Cu,S+30, - 2Cu,0+2S0,

(4) Al,O; +2NaOH +3H,0 — 2Na[Al(OH),]

Which of the following is the correct order of boiling points ?

LAY PO HOBOROD KOS 300 DB ?

(1) NH, <PH, < AsH, < SbH, (2) NH, <PH, > AsH, > SbH,
(3) NH,>PH, <AsH,>SbH, (4) NH, > PH, > AsH, > SbH,

Chlorine reacts with Na,S,0, aqueous solution to form Na,SO,, HCland ‘X’.Which
one of the following is X ?

§65Na,8,0,, eopseos’ 55508 Na,S0,, HCl o8 Jrew X’ 5 6ot 208 36 X' 56 2
(1) SO, (2) SO, (3) H,S (4) S
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A
140. Hydrolysis of XeF gives a compound of Xe in addition to HF. What is formula of

the compound ?
XeF o o J85p S HF & e D5y3 Xe 530 9t 20e3 ?
(1) XeO, (2) XeO, (3) XeOF, (4) XeOF,

141. A magnetic moment of 1.73 BM will be shown by one among the following :
208 736" D 5335%0 1.73 BM esabdn,of grsos™) B208 2
(1) INiCO),] (2 TiCl, (3) [Cu(NH,)J** (4) [Ni(CN)]*

142. Electronic configuration of a lanthanide ion Ln?* is 4. The lanthanide is
e.8 o wars Ln?* JogS Ivso 4. & crogipé Sareso 0 2
(1) Sm (2) Eu | (3) Gd (4) Pm

143. How many moles of AgCl is precipitated when aqueous solution of one mole of
CoCl,.4 NH, is treated with excess of AGNO, ?

o820 CoCl,.4 NH, =0 o008 088 AGNO, & 55T 0BoddH wSgvoset AgCIarde
Sogy Job ?

(1) 0 (2) 1 Q) 2 4) 3

144. Which is the monomer of neoprene in the following ?
208 TIE° IAFDS B, IPT00 I8 7

(1) H,C=CH-CH=CH, (2) H,C=C-CH=CH,
ot
(3) H,C =(1:_CH =CH, (4) HC=CH-CH,
Cl
145. Which is an artificial sweetner ?
(1) Sodium benzoate (2) Tartaric acid
(3) Aspartame (4) Ranitidine
808 Te38° EBH0 SS0e3 B ?
(1) Facpo Bof’chns (2) ergosso
(3) esmg (4) oae3dsS
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A ——

146.

147.

148.

149.

150.

Which of the following is highly reactive towards SN* reaction ?

SN’ w;mwwﬁwmﬁ%mba?
(1) CH,Br (2) CH.CI (3) CH,CH,CI  (4) (HLC)LCBr

Which one of the following reactions is not correct ?
308 56;06° DB DA 5% ?

(1) HyCCH, OH—CWS73K o _ch,

(2) HsCCH=CHCH, OH—CC L4 ¢ CH= CHCHO

Cr0,Cl,/CS, 2)H.0*
/0% 2H, —CgHs — CHO

®) HsCq ~CHy

@ c eHe (CO+HCI)/anhyd.Alcl, »CgHs.CHO

The transformation RCOOH — RCH,0OH can be achieved by —reagent.
RCOOH — RCH,OH &5 585615 — stt08 QOB
(1) ZnHgHCI  (2) LiAH, (3) Pd/BaSO, (4) NaBH,

Arrange the following amines in increasing order of their basicity.
éoaaq)sabomogadasoaﬁg:mba ?

NH,(1), C,H,NH, (2), CeH; NH, (3), (C,H,), NH (4)
(1) 1<2<3<4 (2) 2<3<4<1 (B) 3<1<2<4 (4) 1<3<4<2

What is B in the following reaction ?
808 565" B D0e3 2

H0*
CeHsN,CI—CUCN/KCN |, O™ g

(1) GH,CN (2) C,H,CH,COOH
(3) C,H,NH, (4) C,H,COOH
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